2005 2006 2007
4-
83 85 87
59,000 60,000 61,000
4-
141 142 143
135,000 140,000 143,000
7 8 9




2005 2006 2007
5 550 6 600 7 650
46 74,000 47 76,000 48 78,000
4-
2,700 2,800 2,900
80% 82% 84%
4-
22 25 27




15,899,543 15,629,606 269,937
3,146,332 3,632,699 486,367
4: 3,146,332 3,632,699 486,367
4- 122,475 179,175 56,700
50,900 48,900 2,000
(2110-2114-120-201-01)
(=3,400)
- 500,000 * 4 = 2,000
- 200,000 * 4 = 800
- 150,000 * 4 = 600
(=8,300)
- 300,000 * 6 = 1,800
- 1,500,000 * 3 = 4,500
- 1,000,000 * 2 = 2,000
(2110-2114-120-301-11)
(=39,200)
1,500,000 * 2 = 3,000
1,300,000 * 2 = 2,600
500,000 * 6 = 3,000
200,000 * 18 = 3,600
30,000 * 30 *30 = 27,000
54,000 54,000 0
(2110-2114-120-201-01)
500,000 * 12 = 6,000
(2110-2114-120-301-11)
30,000 * 40 * 40 = 48,000
7575 7,275 300

(2110-2114-120-201-01)




100,000 * 4 = 400
5,000 * 45 * 3 = 675
10,000 * 60 * 1 = 600
70,000 * 3 *10 = 2,100
(=2,400)
- 70,000 * 5 * 2  * 2 = 1,400
- 50,000 * 10 *1 * 2 = 1,000
70,000 * 10 * 1 * 2 = 1,400
10,000 10,000 0
(2110-2114-120-301-11)
(=10,000)
200,000 * 1 * 10 = 2,000
20,000 * 40 * 10 = 8,000
4- 800,224 758,314 41,910
227,075 190,482 36,593
(2110-2114-120-201-01)
(=35,850)
- 1,050,000 * 23 = 24,150
- 100,000 * 60 = 6,000
- ( 9 )
2,700,000 * 1 = 2,700
- 500,000 * 6 = 3,000
200,000 * 99 * 1 = 19,800
(2110-2114-120-301-11)
(=141,425)
(=124,580)
- 5,500,000 * 3 = 16,500
- 10,000,000 * 5 = 50,000




- 1,500,000 * 4 = 6,000
- 5,000,000 * 4 = 20,000
- 600,000 * 8 = 4,800
- 3,000,000 * 2 = 6,000
- 3,000,000 * 1 = 3,000
- 150,000 * 30 = 4,500
- 300,000 * 10 = 3,000
- 5,000 * 98 * 22 = 10,780
(=15,348)
- 22,000 * 98 *3 = 6,468
- 5,000 * 98 * 12 = 5,880
- 3,000,000 * 1 = 3,000
49,900 * 3 * 10 = 1,497
(=12,000)
2,000,000 * 2 = 4,000
3,000,000 * 1 = 3,000
2,000,000 * 1 = 2,000
3,000,000 * 1 = 3,000
(2110-2114-220-405-01)

(=18,000)
() 7,000,000 * 1 = 7,000
( ) = 10,000
1,000,000 * 1 = 1,000

98,246 110,788 12,542
(2110-2114-120-201-01)
(=18,400)

- 1,050,000 * 8 = 8,400
- 100,000 * 20 = 2,000




)
- 5,000,000 * 1 = 5,000
- 10,000 * 50 * 2 = 1,000
- 500,000 * 4 = 2,000
(=1,000)
- 1,000,000 * 1 * 1 = 1,000
(=1,200)
- 1,200,000 * 1 = 1,200
(2110-2114-120-301-11)
(=34,210)
(=25,160)
- 1,500,000 * 2 = 3,000
- 1,500,000 * 4 = 6,000
- 2,000,000 * 1 = 2,000
- 300,000 * 10 = 3,000
- 1,000,000 * 4 = 4,000
- 300,000 * 10 = 3,000
- 5,000 * 68 *8 = 2,720
- 5,000 * 36 *8 = 1,440
(=6,052)
- 22,000 * 68 *2 = 2,992
- 5,000 * 68 *9 = 3,060
2,000,000 * 1 = 2,000
49,900 * 2 * 10 = 998
(=24,360)
1,500,000 * 2 = 3,000
3,000,000 * 3 = 9,000
5,500,000 * 2 = 11,000
20,000 * 68 * 1 = 1,360




(2110-2114-220-401-04)

3,000,000 * 1 = 3,000
(2110-2114-220-405-01)
(=16,076)
( 500,000 * 1 = 500
3,000,000 * 1 = 3,000
3,000,000 * 1 = 3,000
269,000 * 4 = 1,076
3,000,000 * 1 = 3,000
2,000,000 * 2 = 4,000
750,000 * 2 = 1,500
105,071 98,308 6,763
(2110-2114-120-201-01)
(=14,600)
- 1,050,000 * 8 = 8,400
- 3,050,000 * 1 = 3,050
- 100,000 * 5 = 500
- 10,000 * 50 * 2 = 1,000
- 500,000 * 1 = 500
- 500,000 * 1 = 500
- 100,000 * 5 = 500
- (CD, VIR ) 5,000 * 30 = 150
(=22,750)
- 200,000 * 50 * 2 = 20,000
- 100,000 * 20 * 1 = 2,000
- 15,000 * 50 * 1 = 750

(2110-2114-120-301-11)
(=29,130)




)
(=22,390)
- 250,000 * 2 = 500
- 1,500,000 * 2 = 3,000
- 1,500,000 * 2 = 3,000
- 1,500,000 * 2 = 3,000
- 1,500,000 * 2 = 3,000
- 1,000,000 * 1 = 1,000
- 200,000 * 5 *2 = 2,000
- 300,000 * 7 = 2,100
- 200,000 * 10 = 2,000
- 5,000 * 48 *6 = 1,440
- 5,000 * 45 *6 = 1,350
(=4,242)
- 22,000 * 48 *2 = 2,112
- 5,000 * 48 *7 = 1,680
- 5,000 * 45 *2 = 450
1,500,000 * 1 = 1,500
49,900 * 2 * 10 = 998
(2110-2114-220-401-04)
(=28,000)
12,000,000 * 2 = 24,000
2,000,000 * 2 = 4,000
(2110-2114-220-405-01)
(=10,591)
700,000 * 4 = 2,800
150,000 * 10 = 1,500
50,000 * 10 = 500
100,000 * 10 = 1,000




300,000 * 10
( ) 830,000 * 2
131,000 * 1

3,000
1,660
131

76,963

74,388

2,575

(2110-2114-120-201-01)
(=29, 450)

- 1,050,000 * 9

- 300,000 * 30

- 2,000,000 * 1

- 500,000 * 2

- 500,000 * 1

- 6,000,000 * 1

- 10,000 * 50

- 10,000 * 100

(=7,950)

- 150,000 * 53 * 1

1,500,000 * 1
(2110-2114-120-301-11)
(=33,449)
(=21,915)

- 3,000,000 * 1

- 1,500,000 * 1

- 500,000 * 7

- 4,000,000 * 1

- 200,000 * 10

- 200,000 * 20

- 5,000 * 53 * 11

- 1,000,000 * 1

9,450
9,000
2,000
1,000

500
6,000

500
1,000

7,950
1,500

3,000
1,500
3,500
4,000
2,000
4,000
2,915
1,000




)
(=4,536)
- 22,000 * 54 *2 = 2,376
- 5,000 * 54 *8 = 2,160
300,000 * 20 = 6,000
49,900 * 2 * 10 = 998
(2110-2114-220-405-01)
(=4,614)
3,000,000 * 1 = 3,000
269,000 * 6 = 1,614
177,010 174,804 2,206
(2110-2114-120-201-01)
(=16,125)
- 1,800,000 * 4 = 7,200
- 1,500,000 * 4 = 6,000
- 10,000 * 20 * 4 = 800
- 10,000 * 25 * 4 = 1,000
- 500,000 * 2 = 1,000
- 2,500 * 50 = 125
100,000 * 15 * 2 = 3,000
(2110-2114-120-301-11)
(=119,087)
(=96,300)
- 1,000,000 * 4 = 4,000
- 3,000,000 * 4 = 12,000
- 3,500,000 * 1 = 3,500
- 1,000,000 * 4 = 4,000
- 1,000,000 * 17 * 4 = 68,000
- 5,000 * 10 * 40 = 2,000




- 5,000 * 14 * 40 = 2,800
(=9,960)
- 1,000,000 * 1 = 1,000
- 1,000,000 * 8 * 1 = 8,000
- 5,000 * 10 *8 = 400
- 5,000 * 14 * 8§ = 560
(=12,028)
- 1,000,000 * 2 = 2,000
- 1,000,000 * 3 *2 = 6,000
- 5,000 * 10 * 10 = 500
- 5,000 * 14 * 24 = 1,680
- 22,000 * 14 *3 *2 = 1,848
49,900 * 2 *8 = 799
(2110-2114-220-401-04)
9,000,000 * 4 = 36,000
(2110-2114-220-405-01)
(=2,798)
(=2,798)
- 522,000 * 1 = 522
- 500,000 * 1 = 500
- 300,000 * 1 = 300
- 200,000 * 2 = 400
- 269,000 * 4 = 1,076
70,534 65,945 4,589
(2110-2114-120-201-01)
(=7,000)
- 1,050,000 * 4 = 4,200
- 100,000 * 23 = 2,300




-10-

)
- 500,000 * 1 = 500
a )
30,000 * 76 * 1 = 2,280
(2110-2114-120-301-11)
(=60,554)
(=8,180)
- 1,000,000 * 1 = 1,000
- 100,000 * 15 = 1,500
- 500,000 * 4 = 2,000
- 500,000 * 1 = 500
- 300,000 * 3 = 900
- 5,000 * 76 * 6 = 2,280
60,000 * 5 *8 = 2,400
50,000 * 72 * 6 = 21,600
10,000 * 72 * 12 = 8,640
5,000 * 72 * 12 = 4,320
(=7,725)
- 30,000 * 76 * 3 * 1/2 = 3,420
- 5,000 * 76 * 10 = 3,800
- ) = 505
(=6,940)
- 30,000 * 76 * 2 * 1/2 = 2,280
- 5,000 * 76 * 7 = 2,660
- 1,000,000 * 2 = 2,000
49,900 * 3 *5 = 749
(2110-2114-220-405-01)
(=700)
( , ) 500,000 * 1 = 500




100,000 * 2 = 200
45325 43,599 1,726
(2110-2114-120-201-01)
(=7,950)
- 1,050,000 * 5 = 5,250
- 100,000 * 12 = 1,200
- 500,000 * 2 = 1,000
- 500,000 * 1 = 500
(=3,900)
- 100,000 * 30 * 1 = 3,000
- 30,000 * 30 *1 = 900
(2110-2114-120-301-11)
(=32,399)
(=9,250)
- 300,000 * 4 = 1,200
- 400,000 * 4 = 1,600
- 1,000,000 * 1 = 1,000
- 300,000 * 5 = 1,500
- 5,000 * 80 *8 = 3,200
- 5,000 * 75 * 2 = 750
(=7,200)
- 30,000 * 80 *2 *1/2 = 2,400
- 5,000 * 80 *7 = 2,800
- 2,000,000 * 1 = 2,000
250,000 * 8 = 2,000
100,000 * 30 * 1 = 3,000
5,000 * 75 * 12 = 4,500
(=5,700)

-11-




-12-

- 30,000 * 80 *2 *1/2 = 2,400
- 5,000 * 80 *7 = 2,800
- ( ) = 500
49,900 * 3 *5 = 749
(2110-2114-220-405-01)
(=1,076)
269,000 * 4 = 1,076
4- 571,774 600,548 28,774
4,300 4,300 0
(2110-2114-120-301-11)
(=4,300)
200,000 * 3 = 600
200,000 * 3 = 600
20,000 * 31 *5 = 3,100
347,500 317,500 30,000
(2110-2113-120-202-03)
4,375,000 * 4 = 17,500
(2110-2114-120-301-11)
= 330,000
200,000 250,000 50,000
(2110-2114-120-301-11)
= 200,000
19,974 22,548 2,574
(2110-2113-120-202-01)
49,900 * 4 *3 *2 = 1,198
(2110-2114-120-201-01)
. , 3 (=2,700)
- 1,050,000 * 2 = 2,100




- 4,000 * 150 = 600
.. 3 (=3,000)
- 200,000 * 5 *3 = 3,000
(2110-2114-120-301-11)
. 3 (=13,076)
1,000,000 * 2 = 2,000
900,000 * 4 = 3,600
5,000 * 54 * 10 = 2,700
22,000 * 54 *2 = 2,376
20,000 * 60 * 2 = 2,400
4- 354,851 341,839 13,012
114,920 109,908 5,012
(2110-2113-120-202-01)
49,900 * 3 *3 *10 = 4,491
(2110-2113-120-203-03)
= 3,000
(2110-2114-120-201-01)
s/w 1,400,000 * 8 * 18% = 2,016
450,000 * 11 = 4,950
(=20,415)
- 80,000 * 40 = 3,200
- ( )
55,000 * 2 * 13 *2 = 2,860
- 750,000 * 12 = 9,000
- 150,000 * 7 * 1 = 1,050
- = 4,305
4,000,000 * 1 = 4,000
220 * 600 * 12 = 1,584

-13-




-14-

)
1,520 * 1,200 = 1,824
70,000 * 10 *6  *1 = 4,200
35,000 *5  * 10 * 6 = 10,500
120,000 * 8 *6  *1 = 5,760

(2110-2114-120-203-03)
= 2,000

(2110-2114-120-301-11)

(=43,180)
500,000 * 7 *5 = 17,500
(=12,480)

- 130,000 * 6 * 12 = 9,360
- 130,000 * 2 * 12 = 3,120
10,000 * 5 * 17 * 12 = 10,200
600,000 * 5 = 3,000

(2110-2114-220-405-01)
1,400,000 * 5 = 7,000

239,931 231,931 8,000
(2110-2113-110-101-10)
(=87,590)

31,310 * 13  * 200 = 81,406
170,000 * 5 = 850
81,406,000 * 4.5% = 3,664
81,406,000 * 1.45% = 1,181
81,406,000 * 0.6% = 489




(2110-2113-120-201-01)

(=2,780)
- CD

(2110-2113-220-405-01)
(=4,387)
. CD
(=510)

(2110-2114-120-201-01)
(=4,740)

(=96,000)
900 * 8,000
300,000
100 * 5000

15,000 * 6
10,000 * 10

*

*

*

*

12
12
12

12
12

1,000 * 500
550,000 * 12
10,000 * 300

85,000 * 3
310 * 4,000
70,000 * 2

230,000

150,000

60,000
230,000

*

*

12
12
*2

720 * 3,000
110 * 3,000
600 * 1,000
150 * 5,000

1,000

86,400
3,600
6,000

1,080
1,200
500
6,600
3,000
3,060
14,880
280

1,150

150
360
920

2,160
330
600
750

-15-




-16-

- 40 * 7,500 = 300
- 300,000 * 2 = 600
(=6,300)
- 40,000 * 35 = 1,400
- 120,000 * 20 = 2,400
- 10,000 * 50 = 500
- 100,000 * 5 = 500
) 2,000 * 250 = 500
- 100,000 * 10 = 1,000
= 2,000
(2110-2114-120-301-11)
5,000 * 10 * 48 = 2,400
(2110-2114-220-405-01)
(=5,721)
269,000 * 9 = 2421
2,600,000 * 1 = 2,600
700,000 * 1 = 700
1,000,000 * 1 = 1,000
4- 1,297,008 1,752,823 455,815
19,500 7,063 12,437
(2110-2113-120-201-01)
. = 6,000
(2110-2113-220-206-00)
125 ) 1,500,000 * 1 = 1,500
(2110-2113-220-401-01)
a) = 12,000
506,138 639,038 42,900

(2110-2113-110-101-09)




() (z19,314)

(=1,337)

(2110-2113-110-101-10)
(=11,345)

(2110-2113-120-201-01)

(2110-2113-120-301-09)
(=13,504)

35,260 * 1 * 249
8,780,000 * 4/12
8,780,000 * 10%
35,260 * 1 * 15
35,260 * 1 * 63
8,780,000 * 1.5/12
30,000 * 1 * 12
120,000 * 1 * 12
90,000 * 1 * 12

19,314,000 * 4.5%

19,314,000 * 1.45%

19,314,000 * 0.6%
70,000 * 1

31,310 * 2 * 170
10,646,000 * 4.5%
10,646,000 * 1.45%
10,646,000 * 0.6%

2,100 * 4,556

21.176 * 43,842 * 10
2,470 * 43,842 * 45%

46,550 * 6 * 12

8,780
2,927
878
529
2,222
1,098
360
1,440
1,080

870
281
116

70

10,646
480
155

64

9,568

9,284
48,731

3,352

-17-




-18-

)
40,000 * 6 * 12 = 2,880
88,000 * 6 * 12 = 6,336
156,000 * 6 = 936
(2110-2113-220-206-00)
20,670 * 8  * 12 = 1,985
( ., )y = 6,070
(2110-2113-220-307-05)
= 230,000
(2110-2113-220-401-01)
= 30,000
' ) ) (=200,000)
50,000 * 1,200 = 60,000
(886 ) 140,000,000 * 1 = 140,000
15,000,000 * 1 = 15,000
327,134 364,878 37,744
(2110-2113-120-201-01)
(=7,983)
- 16,800 + 12,200 * (440 - 0.75 ) = 5,376
- 16,800 + 12,200 * (213 - 0.75 ) = 2,607
(=10,709)
- 250 * 18,749 * 1 = 4,688
- 250 * 7,210 *1 = 1,803
- 250 * 5,135 *1 = 1,284
- 250 * 11,734 * 1 = 2,934
2,500 * 1,600 * 2 = 8,450
150,000 * 4 * 12 = 7,200
1,300,000 * 1 = 1,300
120,000 * 1 = 120




(=26,940)

(=23,749)

(15-65A)
« . )

(2110-2113-220-206-00)

400,000 * 1

600,000 * 66 * 0.1
15,000 * 8,653 * 0.1
1,000,000 * 4

500,000
4,000,000 * 1

*
I

2,500,000 * 2
37,750 * 200m
200,000 * 20
313,000 * 23

(=26,415)

(1,100 )

(2110-2113-220-401-01)

(=15,328)

(350R/T) (=3,000)

60,000 * 66 * 20%
10,000 * 8,653 * 10%

320,000 * 23

3,000,000 * 1
1,656,000 * 3

400

3,960
12,980
4,000
2,000
4,000

5,000
7,550
4,000
7,199

4,770

792
8,653
2,500
3,000
1,500
3,000
2,200

7,360

3,000
4,968

-19-




-20-

)
(=9,500)
8,000,000 * 1 = 8,000
1,500,000 * 1 = 1,500
(=19,800)
(100A) 182,000 * 100m = 18,200
(100A) 1,600,000 * 1 = 1,600
(=19,420)
(=19, 420)
- (65-100A) 170,200 * 100m = 17,020
- (15-32A) 80,000 * 30m = 2,400
(=15,420)
(75HP) 2,700,000 * 1 = 2,700
(50HP) 1,900,000 * 2 = 3,800
(20HP) 2,000,000 * 1 = 2,000
(150A) 1,730,000 * 4 = 6,920
ccTV (=40,000)
. CCTV 5,000,000 * 5 = 25,000
7,000,000 * 1 = 7,000
8,000,000 * 1 = 8,000
(=22,000)
(200KVA)1 16,000,000 * 1 = 16,000
6,000,000 * 1 = 6,000
(=14,000)
10,000,000 * 1 = 10,000
1 = 4,000
(=42,200)
- MOF 18,200,000 * 1 = 18,200
. 24KV 630A VCB 24,000,000 * 1 = 24,000




(=13,000)

@)

70,000 * 124
1,080,000 * 4

8,680
4,320
3,200

319,909

714,645

394,736

(2110-2113-120-201-01)

- (53

- (14

— (8
(2110-2113-220-206-00)

(Xenon)

(2110-2113-220-401-01)
(=40,000)

(2110-2113-220-405-01)

83 )
24 )
13 )

(=26,509)

(CUNED

(:

200,000 * 4 * 1
17,000)

32,000 * 3,575 * 15%

7,500 * 3,575 * 5%

25,000 * 726 * 5%

2 )

2,100,000 * 1

800

6,000
6,000
5,000

17,160
1,341
908
2,500
2,100
2,500

20,000
13,000
7,000
200,000
20,000
10,000

-21-




-22-

)
= 3,000
1,300,000 * 2 = 2,600
34,327 27,199 7,128

(2110-2113-110-101-10)

(=15,587)
37,210 * 15 * 6 = 3,349
37,210 * 8 * 15 = 4,466
37,210 * 10 * 3 = 1,117
37,210 * 4 *5 = 745
37,210 * 1 * 55 = 2,047
37,210 * 6 * 13 = 2,903
14,627,000 * 4.5% = 659
14,627,000 * 0.6% = 88
14,627,000 * 1.45% = 213

(2110-2113-120-201-01)
= 400

(2110-2113-220-206-00)

(=5,040)
600 * 2,300 *3 = 4,140
1,800 * 500 = 900
(=3,900)

2,200 * 400 = 880
2,700 * 600 = 1,620
3,500 * 400 = 1,400

(=7,600)
5 950,000 * 8 = 7,600

(=1,800)

4,000 * 300 = 1,200




( ) = 600
12,753,211 11,996,907 756,304
(2110-2113-110-101-01)
(=1,089,580)
(=59, 289)
-4 (57,107,000 + 57,107,000 * 53% * 1.5%) * 1 = 57,562
- 57,562,000 * 3% = 1,727
(=1,030,291)
-5 2,243,900 * 1 * 12 * 1.015 = 27,331
-6 1,842,900 * 6 * 12 * 1.015 = 134,680
-7 1,476,000 * 9 * 12 * 1.015 = 161,800
-8 1,295,200 * 6 * 12 * 1.015 = 94,654
- 6 1,842,900 * 5 * 12 * 1.015 = 112,233
- 7 1,476,000 * 8 * 12 * 1.015 = 143,822
N 1,295,200 * 14 * 12 * 1.015 = 220,858
- 9 1,076,600 * 8 * 12 * 1.015 = 104,904
- 1,000,282,000 * 3% = 30,009
1,030,291,000 * 2/12 = 171,716
1,030,291,000 * 2/12 = 171,716
(2110-2113-110-101-02)
(=259,609)
.5 9,088 * 1 *42  *12 *1.015= 4,650
. 6 7,711 * 11 * 42  * 12 *1.015 = 43,392
7 6,919 * 17 *42  * 12 *1.015 = 60,172
B 6,200 * 20 * 42  *12 *1.015 = 63,434
.9 5,560 * 8 *42  *12 *1.015 = 22,755
6,919 * 8,208  * 1.015 = 57,644
252,047,000 * 3% = 7,562

-23-




-24-

)
(=31,443)
-7 53,043 * 9 * 63  * 1.015 * 1.03 = 31,443
(=37,525)
30,000 * 59 * 0.78 * 12 = 16,568
20,000 * 59 * 1.48 * 12 = 20,957
(=16,212)
47,700 * 59  * 0.20 * 4 = 2,252
369,700 * 59 * 0.16 * 4 = 13,960
(=59,400)
. 25 130,000 * 7 12 = 10,920
.20 25 110,000 * 12 12 = 15,840
.15 20 80,000 * 18 12 = 17,280
.10 15 60,000 * 18 12 = 12,960
.5 10 50,000 * 4 12 = 2,400
(=11,400)
40,000 * 5 12 = 2,400
30,000 * 25 12 = 9,000
40,000,000 * 6% * 12 1.03 = 29,664
(=3,540)
7 15,000 * 5 12 = 900
9 10,000 * 4 12 = 480
« ) 30,000 * 4 12 = 1,440
( ) 20,000 * 3 12 = 720
30,000 * 1 12 = 360
15,000 * 1 12 = 180
10,000 * 1 12 = 120
10,000 * 1 12 = 120
40,000 * 2 12 = 960




G )

¢ )
(2110-2113-110-101-03)

( )

(2110-2113-110-101-04)

(=85,680)
.4 5
.6 7

(2110-2113-110-101-05)
( ’

(2110-2113-110-101-06)
( ’

(2110-2113-110-101-07)

(2110-2113-110-101-08)
(=58,093)
(l L )

50,000 * 1 * 12
38,000 *1 * 12

130,000 * 59  * 12
130,000 * 13 * 12

140,000 * 1 * 12
130,000 * 28 * 12
120,000 * 28 * 12
120,000 * 13 * 12

1,030,291,000 * 1.5/12
200,015,000 * 1.5/12

1,030,291,000 * 2.5/12
200,015,000 * 2.5/12

1,030,291,000 * 10/249

112,038,000 * 53% * 10/249

200,015,000 * 10/249

(50,769,470 + 50,769,470 * 58% * 1.5%) * 1

51,212,000 * 3%

600
456

92,040
20,280

1,680
43,680
40,320
18,720

128,787
25,002

214,644
41,670

41,378
2,385
8,033

51,212
1,537

-25-




-26-

)
10,141 * 42 *1 *12 * 1.015 = 5,188
5,188,000 * 3% = 156
(=393,967)
1,226,400 * 13 * 12 * 1.015 = 194,189
194,189,000 * 3% = 5,826
200,015,000 * 2/12 = 33,336
200,015,000 * 2/12 = 33,336
(=103,198)
- 5,883 * 13 * 67  * 12 * 1.015 = 62,412
- 62,412,000 * 3% = 1,873
- 15,688 * 13 * 365 * 1/2 * 1.015 = 37,779
- 37,779,000 * 3% = 1,134
(=8,269)
- 30,000 * 13 * 0.78 * 12 = 3,651
- 20,000 * 13 * 1.48 * 12 = 4,618
(=3,573)
- 47,700 * 13 * 0.20 * 4 = 497
- 369,700 * 13 * 0.16 * 4 = 3,076
(=11,760)
-20 25 130,000 * 1 * 12 = 1,560
-15 20 80,000 * 7 * 12 = 6,720
-10 15 60,000 * 4 * 12 = 2,880
-5 10 50,000 * 1 * 12 = 600
(=480)
- 20,000 * 1 * 12 = 240
- 10,000 * 2 * 12 = 240

(2110-2113-120-201-01)

33,962




800,000 * 12

(=420)
276,000 * 1
29,000 * 1
@1 ) 115,000 * 1
(=1,116)
195,000 * 1
275,000 * 1
(47) 646,000 * 1
(5,986,123 + 86.2 * 154,000 h) * 12
(=9,025)
( )

5,099,855 * (140,057 /149,817 ) * 0.16 * 2

5,200,622.14 * (15,488 /19,344 ) * 0.85 * 2

(=34,078)
( 52,300 + 765 * 2,500 ) * 12
350 * 2,500 * 12
(=16,800)

35,000 * 1 * 116
, ) 35,000 * 1 * 364
70,000 * 18 * 1
150,000 * 13
(=954)
70,000 * 11

9,600
15,000

276
29
115

195
275
646
231,132

1,526

7,079
420

23,578
10,500
1,496

4,060
12,740
1,260
1,950

770

-27-




-28-

)
- 23,000 * 8 = 184
= 18,600
= 3,000
(=107,232)
- 594 * 39 *6  *90 *3 *2 = 75,058
- 331%30 *6  *90 *3 *2 = 32,174
«C ) 3,000,000 * 1 = 3,000
.6 2,500,000 * 1 = 2,500
5,000,000 * 1 = 5,000
(2110-2113-120-202-01)
10,000 * 60 * 10 * 12 = 72,000
(2110-2113-120-203-01)
“ ) = 3,000
(2110-2113-120-203-02)
30,000 * 59 = 1,770
(2110-2113-120-203-04)
700,000 * 12 = 8,400
(2110-2113-120-204-01)
(=7,200)
“ ) 400,000 * 1 * 12 = 4,800
G ) 100,000 * 2 * 12 = 2,400
(2110-2113-120-204-02)
(=113, 640)
4 400,000 * 1 * 12 = 4,800
400,000 * 1 * 12 = 4,800
250,000 * 1 * 12 = 3,000
155,000 * 8 * 12 = 14,880
140,000 * 7 * 12 = 11,760




(2110-2113-120-204-03)

( )
(2110-2113-120-307-07)

(2110-2113-220-405-01)
(=1,807)
- 1
(2110-2114-120-301-11)
(=8,962,989)
(=3,727,236)

105,000 * 6 * 12
155,000 * 5 * 12
140,000 * 8 * 12
105,000 * 22 * 12
105,000 * 13 * 12
50,000 * 70 * 12
269,000 * 3
1,514,000 * 6 * 12
1,410,000 * 1 * 12
1,391,000 * 6 * 12
1,071,000 * 25 * 12
1,054,000 * 41 * 12
1,022,000 * 217 * 12
3,727,236,000 * 4/12
130,000 * 296 * 12
408,000 * 296 * 12
120,000 * 296 * 12
170,000 * 120 * 12
3,727,236,000 * 2.5/12

7,560
9,300
13,440
21,720
16,380

42,000

9,000

1,000
807

109,008
16,920
100,152
321,300
518,568
2,661,288
1,242,412
461,760
1,449,216
426,240
244,800
776,508

-29-




-30-

)
(=83,416)
- 47,700 * 296 * 0.2 * 4 = 11,296
- 380,700 * 296 * 0.16 * 4 = 72,120
3,727,236,000 * 1/12 = 310,603
12,500,000 * 1 * 12 = 150,000
3,700,000 * 2 * 12 = 88,800
( ) 44,400,000 * 4.5% = 1,998

(2110-2114-120-307-07)

20,000




